
Lecture 15
Method 4 : Constrained least square

filtering
Disadvantages of Wiener 's filter :
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② Constant estimation of ratio is not always suitable

Goal : Consider  a least square minimization model .
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Constrained least square problem:
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Remark:
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In the discrete case
,

we can estimate :
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We will prove :

Theorem : The constrained least ssouare problem has the optimal solution
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Remark : Constrained least square filtering :
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Sketch of proof :

Recall : our problem  is to minimize :
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and X is the Lagrange 's multiplier .
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How about in the frequency ( Fourier ) domain ?

Two important theorems

Notation : Let O be a linear transformation defined by -
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